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QUESTION 1

Devon is writing the following code to avoid what? 

 

Sub Application_BeginRequest(Sender as object, E as EventArgs) 

If (Request.Path.Indexof(chr(92)) >= 0 OR _ 

System.IO.Path.GetFullPath 

(Request.PhysicalPath) Request.PhysicalPath) 

then 

Throw New HttpException(404, "Not Found" 

End If 

End Sub 

 

A. Type safety 

B. GET source code path 

C. Parent path tampering 

D. Canonicalization 

Correct Answer: D 

 

QUESTION 2

Jonathan is creating an XML document and needs to sign data streams. In his code, Jonathan creates a signature node
that is contained within the signed datastream. What type of signature signing has Jonathan employed here? 

A. Enveloping 

B. Attached 

C. Detached 

D. Enveloped 

Correct Answer: D 
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QUESTION 3

What would be the result of the following code? 

#include  

#include  

int main(int argc, char *argv[]) 

{ 

char *input=malloc(20); 

char *output=malloc(20); 

strcpy(output, "normal output"); 

strcpy(input, argv[1]); 

printf("input at %p: %s\n", input, input); 

printf("output at %p: %s\n", output, output); 

printf("\n\n%s\n", output); 

} 

A. Stack buffer overflow 

B. Heap overflow 

C. Query string manipulation 

D. Pointer Subterfuge 

Correct Answer: B 

 

QUESTION 4

Clay is a SQL dba working for Integrated Solutions Inc., a graphics design company in Miami. Clay administers 10 SQL
servers at the company\\'s headquarters. Clay wants to ensure that all SQL traffic stays within the internal network and
no SQL traffic from the outside can get into the internal network. 

What ports should Clay tell the network team to close off at the firewall to disallow all incoming and outgoing SQL
traffic? 

A. 1499 

B. 1433 

C. 389 

D. 1434 
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Correct Answer: BD 

 

 

QUESTION 5

Lyle is writing some code in VB.NET and is implementing some build-in security. What type of .NET security is Lyle
using in the following code? 

public class Myclass1 

Public Sub New() 

End Sub 

Public Sub MyMethods() 

Dim Perm As New MyPermission() 

Perm.Demand() 

End Sub 

Pub Sub YourMethod() 

End Sub 

End Class 

A. Imperative security 

B. Explicit security 

C. Implicit security 

D. Declarative security 

Correct Answer: A 

 

QUESTION 6

What is the following shellcode trying to accomplish? 

int main(void) { 

mkdir("A"); 

chdir("A"); 

chroot("..//..//..//..//..//..//..//..//"); 

system("/bin/sh") 
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A. Corrupt the Linux kernel 

B. Break out of "chroot jail" 

C. Traverse to the /bin/sh directory 

D. Create a buffer overflow 

Correct Answer: B 

 

QUESTION 7

Versions Unlimited, a software design company in Seattle, has just finished development of a new mapping software
product. They have completed testing the internal code and are now ready to involve users other than programmers in
the testing. Versions Unlimited invites internal employees and some external users to come to their company and test
the product in a controlled environment. 

What type of testing is Versions Unlimited currently undertaking? 

A. Alpha testing 

B. Open box testing 

C. Regression testing 

D. Beta testing 

Correct Answer: A 

 

QUESTION 8

Cylie is the Oracle DBA for her company and now wants to track all actions on her Oracle server using auditing. 

What file should Cylie insert the following line into? 

audit_trail = true 

A. Sqlaudit.conf 

B. audit.sql 

C. init.ora 

D. audit.sql 

Correct Answer: C 

 

 

QUESTION 9
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What will the following ASP script accomplish on a webpage? 

 

A. Redirect users to the logon page if they do not have a valid certificate 

B. Logged on users will timeout after hour 

C. Checks whether user has already logged on 

D. Checks the user\\'s cache for personal information 

Correct Answer: C 

 

QUESTION 10

David is a developer that has created an application using the secure RPC protocol. Before anyone can actually use the
program, where must David add entries for the users so that they can gain access? 

A. /system/root/publickey 

B. /etc/root/pkusers 

C. /system/root/rpcusers 

D. /etc/publickey 

Correct Answer: D 

 

QUESTION 11

Jacob just purchased the BlueFire Mobile Security Enterprise software package for all his company\\'s mobile devices.
Jacob wants to configure the software so that it will quarantine a device by blocking all incoming and outgoing network
communication if a breach or violation has occurred. 

What feature of the BlueFire software will be able to accomplish this? 

A. Integrity manager 

B. Device isolation 

C. Mobile quarantine 

D. Veracity verifier 

Correct Answer: A 

 

 

QUESTION 12

312-92 Practice Test | 312-92 Study Guide | 312-92 Exam Questions                                6 / 8

https://www.passapply.com/312-92.html
https://www.passapply.com/312-92.html
https://www.passapply.com/312-92.html


https://www.passapply.com/312-92.html
2024 Latest passapply 312-92 PDF and VCE dumps Download

When the following code is compiled and run is a program what size block will be used to hold name string? 

#include  

int main(int argc, char **argv) 

{ 

char target[5]="TTTT"; 

char attacker[11]="AAAAAAAAAA"; 

strcpy(attacker, " DDDDDDDDDDDDDD"); 

printf("% \n", target); 

return 0; 

} 

A. 16 bytes 

B. 28 bytes 

C. 32 bytes 

D. 8 bytes 

Correct Answer: C 

 

QUESTION 13

What type of error will result from the following statement? 

int main(int argc, char* argv[]) 

{ 

char i[7]; 

strncpy(i, "sdfusdofof", sizeof(i)); 

} 

A. Unbounded string copy 

B. Null-termination 

C. String-termination 

D. String truncation 

Correct Answer: B 
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QUESTION 14

Shayla is designing a web-based application that will pass data to and from a company extranet. This data is very
sensitive and must be protected at all costs. Shayla will use a digital certificate and a digital signature to protect the
data. The digital signature she has chosen to use is based on the difficulty in computing discrete logarithms. 

Which digital signature has she chosen? 

A. Rabin 

B. Diffie-Hellman 

C. SA-PSS 

D. ElGamal 

Correct Answer: D 

 

 

QUESTION 15

Although software companies despise software piracy, they often realize that illegal release of their product parallel to
the legal release can actually increase the item\\'s user base. These illegal versions of the software can oftentimes
increase actual legal buyers. 

What is this process called where illegal copies are released to the public along with the legal versions? 

A. Shadow diffusion 

B. Brigand diffusion 

C. Sideline diffusion 

D. Backdoor diffusion 

Correct Answer: A 
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